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) Forticdac Solution
E’(f/p: ) %=—n—) f(:2)=1
dy =(cye-9)dx = ,,;::w
dy= o (-x-D & . i Q]Illx‘x‘cb
fnl‘ﬁ dy = S(—x-\\ éx . :_‘ Aax - ¥
falyl= -Lé-x +C \j
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2011 #5

At the beginning of , a landfill contained 1400 tons of solid waste. The increasing
function W models the total amount of solid waste stored at the landfill. Planners estimate

that W will satisfy the differential equation . = L(H - 300) for the next 20 years. W is
(!

measured in tons, t is measured in 3-'ca

a) Use the line tangent to the graph of W at t= 0 to approximate the~asmgunt of solid
waste that the landfill contains at the end of the first 3 months of 201 lm

Pb:l\. o Slaqt’ w = ‘HDD + :‘rﬂ—l-%o(f“o>

(€ w) i‘“ L(w’?""b w(L)= 100 +J_1_90(Er9)

T T 300) .
[{?,-"‘lDD) i{-— ( = W(il-l):",L“l

N - 5 . . ?
b) Find d_ in terms of W, letermine whether your answer in part a is an
2 —

underestimate or an overestimate of thé mmount of solid waste that the landfill contains at

time t= Y. zw | (\ 3 \)w
[ Y “'lw 300

dz 1 dw ‘gﬁ l - a5 9-5( )
_(,: 3'5 dt (‘ W=1400

Faed (w-zoa)> UNPERESTMATE

T E

c) Flnd the particular solution W=W({) to the differential equation

i:}?— = .....(W 300) with initial condition W(0) = 1400.
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3. T(cos'"xlsinx) Let u= cosx
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4, Icos x+/sin xdxLet u = sinx
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